OiLtL

www.gillathletics.com
800-637-3090

411 - S1 HURDLE
INSTRUCTIONS

QTY

PART #

DESCRIPTION

Left Leg Assembly

Right Leg Assembly

Weighted Crossbrace

Reinforced Crossbrace

41151

Hurdle Gate Tube

40344CXX

41" Hollow Gate Board Screened

P40346

White Gate Tube Cap

M6 - 1mm Nylon Insert Lock Nut

© O N O WIDN| =

M6 - 1mm x 70mm Screw

(

M6 - 1mm x 35mm Screw

—_
—_

M6 Flat Washer

N
N

Spring Button (SPNG41101)

N
w

Leg End Plug (4115005)

NN BEADN=2AANI |22~

REPL41161

Copyright ©2019 by Gill Athletics.

All rights reserved.

1. WARNING: This product can expose you to Titanium Dioxide,
which is known to the State of California to cause cancer.
For more information go to www.p65warnings.ca.gov.

1/22/2020
INST411
Page 1 of 1




	Sheet1
	Drawing View1


